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Xi Xi

Xi Xi more O then 1

more l than 0

different

the same

A, B, C, D
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1 Pick root C

2 Pass from
leaves to root
A OB OD

March
pic

t I

Want Marginals for A, D.

B was observed as 1














































































































É

I'm a 1 andweshouldbe

like eachother so youshldalso

bemore like a 1
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4,17
2 1

4,10 Yuko Xc

t t
I'm more 1 than O and wesho

be more like each other
L

so youshould be more 1
thanO

March 11 7 Mac o

Max A OB OD
Mrs c J
misc ft m Eh

Send from root to leaves



Mc a
Xa YdXc Yea Xa Xa IIMa c

NCC A BD

Yc Xc Yea Xc Xa Mac
a mp e x

5 I 4 7 1 I 5 11

me he
51 1 1 1 1



Mc p Xp Yc
Xo Yep Xoxo Max a

Mack

5 51.6.1 1 51.6.5

1 1 1 1 1
we don't need me since we know B

I A Ya Xa Mada

Ifc Yc Xo Macca MB Xc Max Xc

5.6.1.7

1 6.5.11



6 D Yp Xp Mc sp Xi

1 1
6 can I I 534

610 13 1 Esso 1 14

610 1 11 I 3


